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On page 9, (10) should be

E2(x) =
(V3 − 2q3x)E′

1(x)− 4q3E1(x)
(p2 − 4q)2U3

− 3[(p− 2q2x)E′
2(x)− 4q2E2(x)]
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− 6q

p(p2 − 4q)
7
2

[
α6

1− α3x
− α2q(V2 + q)

1− αqx
+

β2q(V2 + q)
1− βqx

− β6

1− β3x

]
.

On page 10, (11-15) should be, respectively,

E3(x) =
[(V3 − 2q3x)2E′′

1 (x)− 14q3(V3 − 2q3x)E′
1(x) + 32q6E1(x)]

2(p2 − 4q)4U2
3

+
9[(p− 2q2x)2E′′

2 (x)− 14q3(p− 2q2x)E′
2(x) + 32q4E2(x)]

2(p2 − 4q)4

− 9q

p(p2 − 4q)5
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α3q3V3
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]
1

1− α3x

+
[

β3q3V3

α3 − β3
+

β6q(V2 + q)
α− β

]
1

1− β3x
+

α4q2(V2 + q)
(α− β)(1− αqx)

− β4q2(V2 + q)
(α− β)(1− βqx)

+
β9

(1− β3x)2

}

+
27q2

p(p2 − 4q)5

{
α9

(α2 − β2)(1− α3x)
+

[
αV1q

2(V2 + q)− α6q

α− β

− β3q3

α2 − β2

]
1

1− αqx
− α3q(V2 + q)

(1− αqx)2
+

[
β6q − βV1q

2(V2 + q)
α− β

+
α3q3

α2 − β2

]
1

1− βqx
− β3q(V2 + q)

(1− βqx)2
− β9

(α2 − β2)(1− β3x)

}

∑
a+b=n

U2
aU2

b =
[−2nqUn−1 + p(n− 1)Un]Vn

(p2 − 4q)2
− 2q

(p2 − 4q)2

(
U2n

U2
− nqn−1

)
, n ≥ 1,
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∑
a+b+c=n

U2
aU2

b U2
c =

Un

2(p2 − 4q)3

[
p2(n− 2)(n− 1)Un − 2pq(n− 2)(2n + 1)Un−1

+ 4q2(n− 1)(n + 1)Un−2

]
− 3q

(p2 − 4q)3

[
(n− 2)U2n

U2

+
4q(qn−2V3 − V2n−1)

p(p2 − 4q)
+ (n + 2)(n− 2)qn−1

]
, n ≥ 2.

∑
a+b=n

U2
akU2

bk =
[−2nqkUnk−k + (n− 1)VkUnk]Vnk

(p2 − 4q)2Uk
− 2qk

(p2 − 4q)2

(
U2nk

U2k
− nqnk−k

)
, n ≥ 1,

∑
a+b+c=n

U2
akU2

bkU2
ck =

Unk

2(p2 − 4q)3U2
k

[
V 2

k (n− 2)(n− 1)Unk − 2Vkqk(n− 2)(2n + 1)Unk−k

+ 4q2k(n− 1)(n + 1)Unk−2k

]
− 3qk

(p2 − 4q)3

[
(n− 2)Unk

U2k

+
4qk(qnk−2kV3k − V2nk−k)

VkU2
k (p2 − 4q)

+ (n + 2)(n− 2)qnk−k

]
, n ≥ 2.

On pages 11-12, Theorem 2 and Corollary 2 should be, respectively,
Theorem 2: Let {Un} be the generalized Fibonacci sequence. Then

∑
a+b=n

U3
aU3

b =
(n− 1)V3U3n − 2nq3U3n−3

(p2 − 4q)3U3
− 9qn[2nqUn−1 − p(n− 1)Un]

(p2 − 4q)3

− 6q[U3n − (V2 + q)qn−1Un]
p(p2 − 4q)3

, (17)

∑
a+b+c=n

U3
aU3

b U3
c =

1
2(p2 − 4q)5U2

3

[
(n2 − 3n + 2)V 2

3 U3n − 4q3(n2 − 5n + 6)V3U3n

+ 4q6(n2 − 7n + 12)U3n−6

]
− 7q3[(n− 2)V3U3n−3 − 2(n− 3)q3U3n−6]

(p2 − 4q)5U2
3

+
16q6U3n−6

(p2 − 4q)5U2
3

− 27
2(p2 − 4q)5

[
(n2 − 3n + 2)p2qnUn − 4(n2 − 5n + 6)qn+1Un−1

+ 4(n2 − 7n + 12)q4U3n−6

]
+

189qn+2[(n− 2)pUn−1 − 2(n− 3)qUn−2]− 48qn+2Un−2

(p2 − 4q)5
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− 9q

p(p2 − 4q)5

[
(n− 2)V3n − (V2 + q)qU3n−3 −

q3V3U3n−6

U3

+ (V2 + q)qn−1Un+1

]
+

27q2

p(p2 − 4q)5

[
U3n

U2
+ (V2 + q)V1q

n−1Un−2

−qn−2Un+3 −
qn+3Un−6

U2
− (n− 2)(V2 + q)qn−2Vn

]
.

Corollary 2: Let {Un} be the generalized Fibonacci sequence and k be a positive integer.
Then∑

a+b=n

U3
akU3

bk =
(n− 1)V3kU3kn − 2nq3kU3k(n−1)

U3k(p2 − 4q)3
− 9qkn[2nqkUnk−k − Vk(n− 1)Ukn]

Uk(p2 − 4q)3

− 6qk[U3kn − (V2kqkn−k + qkn)Unk]
UkVk(p2 − 4q)3

∑
a+b+c=n

U3
akU3

bkU3
ck =

1
2U2

3k(p2 − 4q)5

[
(n2 − 3n + 2)V 2

3kU3kn

− 4(n2 − 5n + 6)q3kV3kU3nk + 4(n2 − 7n + 12)q6kU3nk−6k

]
− 7q3k[(n− 2)V3kU3nk−3k − 2(n− 3)q3kU3nk−6k]

U2
3k(p2 − 4q)5

+
16q6kU3nk−6k

U2
3k(p2 − 4q)5

− 27
2U2

kVk(p2 − 4q)5

[
(n2 − 3n + 2)V 2

k qnkUnk

− 4(n2 − 5n + 6)qnk+kUnk−k + 4(n2 − 7n + 12)q4kU3nk−6k

]
+

qnk+2k{189[(n− 2)VkUnk−k − 2(n− 3)qkUnk−2k]− 48Unk−2k}
U2

k (p2 − 4q)5

− 9qk

VkU2
k (p2 − 4q)5

[
(n− 2)UkV3nk − (V2k + qk)qkU3nk−3k

− q3kUkV3k
U3nk−6k

U3k
+ (V2k + qk)qnk−kUnk+k

]
+

27q2k

UkVk(p2 − 4q)5

[
U3kn

U2k
+ (V2k + qk)Vkqnk−k Unk−2k

Uk

−qnk−2kUnk+3k

Uk
− qnk+3kUnk−6k

U2k
− (n− 2)(V2k + qk)qnk−2kVnk

]
.

5



ERRATA FOR “SOME IDENTITIES INVOLVING THE POWERS OF THE GENERALIZED ...

Hence, on page 12, line 11, line 13, line 15 and line 17 should be, respectively

∑
a+b=n

F 2
a F 2

b =
[2nFn−1 + (n− 1)Fn]Ln

25
+

2
25

(
F2n + n(−1)n

)
.

∑
a+b=n

F 3
a F 3

b =
2(n− 1)F3n + nF3n−3 + 18(−1)nnFn−1 + 9(−1)n(n− 1)Fn

125

+
6[F3n + 2(−1)nFn]

125

[2nFn−1 + (n− 1)Fn]Ln + 2(F2n + n(−1)n) ≡ 0 (mod 5), n ≥ 1,

2(n− 1)F3n + nF3n−3 + 18(−1)nnFn−1 + 9(−1)n(n− 1)Fn + 6[F3n + 2(−1)nFn]
≡ 0 (mod 125), n ≥ 1.
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